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WMRNBEXA 77 7 LERIZITT % Visual Question Answering X X 7

Q: Which object is next to Q: Which picture shows Q: What time is shown?

the one shaped like a cube? the pizza inside the oven? Answer by typing a time word,
not a number. It is (_) past eight.

A: ol @ = A: (A) left one (B) right one A: half
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Q. What time 1s shown?
Q: What time is shown? Answer by typing a time word, not a number.

Answer by typing a time word, It is (_) past eight.
not a number. It is (_) past eight.
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Q: What time is shown?

Answer by typing a time word, . _
not a number. It is (_) past eight. Q A 7774 1% ICHEWNT
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Q: What time is shown?

Answer by typing a time word, not a number.

It1s () past eight.
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Q: What time is shown?

Answer by typing a time word, not a number.

It1s () past eight.
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https://arxiv.org/abs/2201.12086
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Q. What time is shown?
Answer by typing a time word, not a number.

It 1s () past eight.

a clock showing 8:30
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Please solve QA task below.

A S5
§ If there is a (), please fill in (). 2 2 7 ¥
[ N\
context: N ‘
"a clock showing 8:30" Fr7oav
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Q: What time is shown?
Answer by typing a time word, H
not a number. It is (_) past eight. )
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Please solve QA task below.

If there is a (_), please fill in (). )

"a clock showing 8:30"

context:

' Q: What time is shown?

Answer by typing a time word,
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not a number. It is (_) past eight. |
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Please solve QA task below. 2 2 25

If there is a (), please fill in (). R N
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I context: ] ¥y Fay _:E_T}bj 7_ j—’v d) |
"a clock showing 8:30"
Q: What time is shown?
BRI Answer by typing a time word, B
" not a number. It is (_) past eight. 1 6




